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DDDDA:[ll ﬂ 00000det(AEy —A)=(A—-1)24+1000A=14+i0 A0000OO0O0OD0
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0000 00000000000 eV O00O00O0O0O0OD f(x)=XAe0000000000O0O0OOOODO
000 O ANOOODO fO0D00D00ODO (eigenvector) DO0DOOOOOV OOODOODOODOOVOOO A
0000 fO000000 ADODOOOfOO0OOD ADODOODOOOOOOOOADOOOOOOOOOO
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(1) ADDODDODODODODUOODOO (U)DO(@YOoDOoOoD

(0 1,2 (@) 1,3 (o) —1,2 (o) -1,3
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n

A
(4) 0000DO limb—nDDDDDDDDDDDDDbD (3)oooooooog M, = [(an)i,]
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0
p, 00000000000 P=[p,p,ps) 0000000P AP OO00D0OOOOODNO

000O0y(t)=Ple(t)00000y(¢) 00000000000000000000@
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w 000000000000000000.
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